<u> </u>	n No. C355-S Term DATE OF AWARD To I								ļ		
: ,	2002 ECONOMIC CENSUS OF CONSTRU	CTION IN	DUSTRIES								
									L		
						0551/1050	MONDOF	00401100		<u></u>	
		BASIS OF		D WEST MAIL . Eville, Il		SERVICES OM, PA		GRAPHICS		C, INC SBURG, PA	
1 NO	DESCRIPTION	AWARD	UNIT RATE		UNIT RATE	COST	UNIT RATE	STER, NY COST	UNIT RATE	COSI	
	PRINTING AND BINDING:			0031		0031		0031		0031	
	FORMS, LETTERS, INSTRUCTIONS AND										
	ENVELOPES:										
	Item 1 - Report Form (CC)Per Leaf										
	Printing in 2 ink colors, price includes cost c	i of							<u> </u>		
	collating & fold from 8-1/2 x 11 to 8-1/2 x 5-								-		
(1)	Makeready and/or Setup	78	250.00	19,500.00	55.00	4,290.00	254.00	19,812.00	275.00	21,450.00	
(2)	Running Per 1,000 Copies	3738	12.50	46,725.00	15.50	57,939.00		59,247.30		40,183.50	
	Item 2 - Form NC-99523										
	Printing in 2 ink colors including and folding	1									
	from 8-1/2 x 11 to 8-1/2 x 5-1/2per item										
(1)	Makeready and/or Setup	1	250.00	250.00	55.00	55.00	239.00	239.00	275.00	275.00	
(2)	Running Per 1,000 Copies	615	12.50	7,687.50	15.20	9,348.00	15.20	9,348.00	10.75	6,611.25	
	Item 3 - Letter (EC-G-(L1)										1
	Printing in single ink color and folding from	а							-		
	flat size 8-1/2 x 11 to 8-1/2 x 5-1/2per Iten										
(1)	Makeready and/or Setup	1	250.00	250.00	55.00	55.00	225.00	225.00	165.00	165.00	
(2)	Running Per 1,000 Copies	229	12.50	2,862.50	15.20	3,480.80	12.45	2,851.05	5.25	1,202.25	
	Item 4 - Letter EC-G-(L11)										
	Printing in single ink color and folding from a										
	flat size 8-1/2 x 11 to 8-1/2 x 5-1/2per Iten										
(1)	Makeready and/or Setup	1	250.00	250.00	o Charge	0.00	225.00	225.00	165.00	165.00	
(2)	Running Per 1,000 Copies	180	12.50	2,250.00	15.20	2,736.00	12.45	2,241.00	5.25	945.00	
)	Item 5 - Letter EC-G-(L21)										
	Printing in single ink color and folding from										
	8-1/2 x 11 to 8-1/2 x 5-1/2per Item										
(1)	Makeready and/or Setup	1	250.00	250.00	o Charge	0.00	295.00	295.00	165.00	165.00	
(2)	Running Per 1,000 Copies	115	12.50	1,437.50	15.20	1,748.00	12.55	1,443.25	5.25	603.75	
	Item 6 - Letter EC-G-(L31)										
	Printing in single ink color and folding from										
	8-1/2 x 11 to 8-1/2 x 5-1/2per Ite										
(1)	Makeready and/or Setup	1	250.00	250.00	o Charge	0.00	295.00	295.00	165.00	165.00	
(2)	Running Per 1,000 Copies	87	12.50	1,087.50	15.20	1,322.40	12.55	1,091.85	5.25	456.75	
	Item 7 - Information Sheet CC-SI(I) Per Lea										
	Printing in single ink color, price include co										
	of collating & folding, 8-1/2 x 11 to 8-1/2x 5										
(1)	Makeready and/or Setup	5	250.00	1,250.00	55.00	275.00	142.00	710.00	275.00	1,375.00	
(2)	Running Per 1,000 Copies	3075	12.50	38,437.50	15.50	47,662.50	12.95	39,821.25	10.75	33,056.25	
	Item 8 - Envelope EC-30 (return) 5-7/8 X 9"		ļ						L		
	Printing in single ink color and price must								L		
	include cost of tintingper evelo		ļ								
(1)	Makeready and/or Setup	1	1,000.00		o Charge		o Charge		o Charge	0.00	
(2)	Running Per 1,000 Copies	620	19.00	11,780.00	20.50	12,710.00	18.20	11,284.00	13.50	8,370.00	
	Item 9 - Envelope CC-1 (outgoing)								L		
	(6-1/16 X 9-3/4) Printing in a single ink								ļļ.		
	colorper envelope										
(1)	Makeready and/or Setup	1	1,000.00		o Charge		o Charge		o Charge	0.00	
(2)	Running Per 1,000 Copies	234	19.00	4,446.00	25.65	6,002.10	20.35	4,761.90	15.75	3,685.50	
	Item 10 - Envelope CC-1(F1) (outgoing)								ļļ.		
	(6-1/16 X 9-3/4) Printing in two ink								Ļ		
	colorsper envelope		1 0 0 7 7 7					_			
(1)	Makeready and/or Setup	1	1,000.00		o Charge		o Charge		o Charge	0.00	
(2)	Running Per 1,000 Copies	190	19.00	3,610.00	25.65	4,873.50	20.35	3,866.50	15.75	2,992.50	
									I I		1

				1						1		
Program	n No. C355-S Term DATE OF AWARD To F	FRRIAR	V 28 2003									
	2002 ECONOMIC CENSUS OF CONSTRUCT											
nue.			ID03TKIL3									
			IFTSON M	IDWEST MAIL.	ΜΔΗΙΝ	G SERVICES	MONRO	E GRAPHICS	N	PC, INC		
		BASIS OF		GEVILLE, IL		DOM, PA	ROCHESTER, NY		CLAYSBURG, PA			
ITEM NO	DESCRIPTION		UNIT RATE		UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST		
	PRINTING AND BINDING:		011110112		0.0.0.0		0.00.00		0.0.0.0			
	Item 11 - Envelope CC-WH-1(F2) (outgoing)										
	(6-1/16 X 9-3/4) Printing in two ink	Í										
	colorsper envelope											
(1)	Makeready and/or Setup	1	1,000.00	1,000.00	o Charge	0.00	o Charge	0.00	o Charge	0.00		
(2)	Running Per 1,000 Copies	115	19.00	2,185.00		2,949.75	20.35	2,340.25	15.75	1,811.25		
(I)	Item 12 - Envelope CC1(F3) (outgoing)											
	(6-1/16 X 9-3/4) Printing in two ink										Î	
	colorsper envelope											
(1)	Makeready and/or Setup	1	1,000.00		o Charge		o Charge		o Charge	0.00		
(2)	Running Per 1,000 Copies	87	19.00	1,653.00	25.65	2,231.55	20.35	1,770.45	15.75	1,370.25		
	ADDITIONAL OPERATIONS:											
	Gathering up to 5 individual items and inse	erting										
	them into envelope(s) (items 9-12)			0.00		0.00		0.00		0.00		
	Per 1,000 packages	610	28.50	17,385.00	13.00	7,930.00	27.00	16,470.00	18.00	10,980.00		
	PACKING AND DISTRIBUTION:											
	Pack/seal shipping containersper contai		2.00	5,390.00	1.25	3,368.75		2,695.00	1.00	2,695.00		
(b)	Palletizingper palllet	56	40.00	2,240.00	25.00	1,400.00	10.00	560.00	44.00	2,464.00		
	CONTRACTOR TOTALS			\$176,176.50		\$170,377.35		\$181,592.80		\$141,187.25		
	DISCOUNT		0.25%	\$440.44	0.00%	\$0.00	0.25%		0.25%	\$352.97		
	DISCOUNTED TOTALS			\$175,736.06		\$170,377.35		\$181,138.82		\$140,834.28		
										AWARDED		
L		1										

oram										
	n No. C355-S Term DATE OF AWARD To F	EBRUAR	Y 28, 2003							
	2002 ECONOMIC CENSUS OF CONSTRUCT									+
· · · · · ·	2002 ECONOMIC CENSOS OF CONSTRUC		DUSIKIES				 _			+
							 			ļ
			ROBOT PRT	& COMMUN.	SPECIALTI	ES BINDERY				
		BASIS OF	REDFO	ORD, MI	HYATTS	VILLE, MD				
ЛNO	DESCRIPTION	AWARD	UNIT RATE	COST	UNIT RATE	COST				1
1	Printing and Binding:		1				-	1		1
	FORMS, LETTERS, INSTRUCTIONS AND						_			1
	ENVELOPES:						 _			+
	Item 1 - Report Form (CC)Per Leaf						 _			+
		[_			
	Printing in 2 ink colors, price includes cost o						 			
	collating & fold from 8-1/2 x 11 to 8-1/2 x 5-						 			
(1)	Makeready and/or Setup	78	272.00	21,216.00		10,530.00				
(2)	Running Per 1,000 Copies	3738	23.50	87,843.00	13.77	51,472.26				1
)	tem 2 - Form NC-99523		1							1
	Printing in 2 ink colors including and folding	1	<u> </u>							1
	from 8-1/2 x 11 to 8-1/2 x 5-1/2per item						 -			-
		1	450.00	450.00	487.00	487.00	 +			+
(1)	Makeready and/or Setup									+
(2)	Running Per 1,000 Copies	615	24.00	14,760.00	14.84	9,126.60	 		l	
	tem 3 - Letter (EC-G-(L1)		<u> </u>				 			ļ
F	Printing in single ink color and folding from	а								
f	flat size 8-1/2 x 11 to 8-1/2 x 5-1/2per Iten	n								
(1)	Makeready and/or Setup	1	225.00	225.00	457.00	457.00				1
(2)	Running Per 1,000 Copies	229	20.00	4,580.00		2,757.16	 -			+
	Item 4 - Letter EC-G-(L11)	227	20.00	4,500.00	12.04	2,737.10	 -			+
	Printing in single ink color and folding from						 			
	flat size 8-1/2 x 11 to 8-1/2 x 5-1/2per Iten						 			
(1)	Makeready and/or Setup	1	225.00	225.00	1	457.00				
(2)	Running Per 1,000 Copies	180	20.50	3,690.00	12.04	2,167.20				
)	tem 5 - Letter EC-G-(L21)									
	Printing in single ink color and folding from		1					1		1
	8-1/2 x 11 to 8-1/2 x 5-1/2per Ite	m					 -			+
(1)	Makeready and/or Setup	1	225.00	225.00	466.00	466.00	 _			+
(2)		115					 			+
	Running Per 1,000 Copies	115	21.00	2,415.00	15.84	1,821.60	 			
	tem 6 - Letter EC-G-(L31)						 _			
	Printing in single ink color and folding from									
8	8-1/2 x 11 to 8-1/2 x 5-1/2per Ite	m								
(1)	Makeready and/or Setup	1	225.00	225.00	466.00	466.00				1
(2)	Running Per 1,000 Copies	87	21.00	1,827.00	15.84	1,378.08				
	tem 7 - Information Sheet CC-SI(I) Per Lea			.,		.,	 -			+
	Printing in single ink color, price include co		<u> </u>				-			+
			<u> </u>				 			+
	of collating & folding, 8-1/2 x 11 to 8-1/2x 5		250.00	4 050 00	100.00	F40.00	 			+
(1)	Makeready and/or Setup	5	250.00	1,250.00		510.00		ļ		ļ
(2)	Running Per 1,000 Copies	3075	19.80	60,885.00	14.02	43,111.50	 			
	tem 8 - Envelope EC-30 (return) 5-7/8 X 9"									
١	Printing in single ink color and price must					İ				T
	nclude cost of tintingper evelo	pe	1					1		1
(1)	Makeready and/or Setup	1	500.00	500.00	500.00	500.00	 +			
(2)	Running Per 1,000 Copies	620	32.50	20,150.00		14,880.00	+		+	+
(2)		020	32.30	20,150.00	24.00	14,000.00	 			+
	tem 9 - Envelope CC-1 (outgoing)		 				 			
	(6-1/16 X 9-3/4) Printing in a single ink		ļ				 _	l		
	colorper envelope		<u> </u>							
(1)	Makeready and/or Setup	1	750.00	750.00	500.00	500.00				
(2)	Running Per 1,000 Copies	234	26.50	6,201.00	24.00	5,616.00				1
	tem 10 - Envelope CC-1(F1) (outgoing)		1				-		1	1
	(6-1/16 X 9-3/4) Printing in two ink		<u> </u>				 	1		+
	colorsper envelope		<u> </u>				 			+
			750.00	750.00	F00.00					+
(1)	Makeready and/or Setup	1	750.00	750.00	500.00	500.00	 			ļ
(1)		1 10-								
(1) (2)	Running Per 1,000 Copies	190	26.50	5,035.00	24.00	4,560.00	 			

							1			
Program	n No. C355-S Term DATE OF AWARD To F	FEBRUAR	Y 28, 2003							
	2002 ECONOMIC CENSUS OF CONSTRUC									
							 1	 		
			DODOT DD		CDECIAL		 	 		
				T & COMMUN.	SPECIAL	TIES BINDERY	 	 		
		BASIS OF		FORD, MI	HYAII	SVILLE, MD	 ļ	 		
ITEM NO		AWARD	UNIT RATE	COST	UNIT RATE	COST		 		
	Printing and Binding:							 		
(k)	Item 11 - Envelope CC-WH-1(F2) (outgoing)								
	(6-1/16 X 9-3/4) Printing in two ink									
	colorsper envelope									
(1)	Makeready and/or Setup	1	750.00	750.00	500.00	500.00				
(2)	Running Per 1,000 Copies	115	26.50	3,047.50		2,760.00		 		
	Item 12 - Envelope CC1(F3) (outgoing)	115	20.30	5,047.50	24.00	2,700.00	 	 		
(1)							 	 		
	(6-1/16 X 9-3/4) Printing in two ink							 		
	colorsper envelope						 ļ	 		
(1)	Makeready and/or Setup	1	750.00	750.00		500.00	 	 		
(2)	Running Per 1,000 Copies	87	26.50	2,305.50	24.00	2,088.00	 			
	Additional operations:						 			
	Gathering up to 5 individual items and inse	ertina					 1	 		
	them into envelope(s) (items 9-12)	3		0.00		0.00				
	Per 1,000 packages	. 610	30.00	18,300.00			 <u> </u>	 		
	PACKING AND DISTRIBUTION:		50.00	10,300.00	27.00	10,470.00	 1	 		
		0.05	1.05				 	 		
(a)	Pack/seal shipping containersper contai	n 2695	1.25	3,368.75			 	 		
(b)	Palletizingper palllet	56	15.00	840.00	10.00	560.00		 		
	CONTRACTOR TOTALS			\$262,563.75		\$176,959.10				
	DISCOUNT		1.00%	\$2,625.64	2.00%		 İ			
	DISCOUNTED TOTALS			\$259,938.11		\$173,419.92		 		
				+===,=====			 	 		
							ļ	 		
			<u> </u>					 		
			1				 	 	· · · · · · · · · · · · · · · · · · ·	
		l					 	 		
							 1			
					Page 4 of	4				
					-					